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Please make sure that the printed pages in this question paper are 16 in number
and it contains 38 questions.
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The Code No. on the top of the question paper should be written by the candidate
on the front page of the answer-book.
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Before beginning to answer a question, its Serial Number must be written.
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Don’t leave blank page/pages in your answer-book.
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Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.
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frd ot dafeus ot @ al 9T [ TR T AT T I

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective

type questions.

o FUT g5 @ guv 87 @ yF 7@ GARTT #X & B gere g 7 @ 8 TR % ST 5
gmT & 7 off arar @ T8l A A

Before answering the question, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination,
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(i) Wﬁﬂ?wﬁwa@vg % @ T TarTd o aF T & aul, 38 FT 4
AT [FFT &

(i) @& ‘% § 10 Fgdoces 597 8 IEGS §97 3T 2 YT FRT STIRT 97 1
HF F &

i) @& ‘G TS T qGANT (VSA) FaT 3 997 & i @ g0 2 3% F

(iv) @ T F6 TgueT (SA) 5B & 797 & o @ 9% 3 o7% @ &

(v) G G T4 T FTOT (LA) JBT 3 597 & frd @ 9% 5 I F &

(i) G F T ICT Z 3 T STIRT BT TR 57 & d § 59w 4 9% #
&

(vii) Fo7-97 7 G Fwey 78 R T & @, @ve ‘@ % 2 g9 A, 9% T %2 Fo
7 @ug g 2 597 7 oaikE AEeq & ATET [ T 8
(viii) PTFACT H TTAT AT 81
General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) This question paper contains five Sections : 4, B, C, D and E. Each Section
is compulsory. However, there are internal choices in some questions.

(i) Section 'A’' has 10 MCQ's, 8 Objective Type Question and 2 Assertion-
Reason based questions of 1 mark each. |

(iti) Section 'B' has 5 Very Short Answer (VSA) type questions of 2 marks each.
" (iv) Section 'C' has 6 Short Answer (SA) type questions of 3 marks each.
(v) Section 'D' has 4 Long Answer (LA) type questions of 5 marks each.

(vi) Section 'E' has 3 source based/case based question 4 marks each with

sub-parts.

(vii) There is no overall choice. However, an internal choice has been provided
in 2 questions in Section B, 2 questions in Section 'C, 2 questions in
Section 'D'. '

(viti) Use of calculator is not permiﬂed.
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gUg - F
SECTION - A
IR i 497 % ST 4 -

Answer the following objective type questions :

1. A A=3,5 7,9, 11}, B={7, 9, 11, 13}, C= {11, 13, 15} R D = {15, 17}, T

(AU D)~ (BU C) & : 7 - | ’
(A) {38,5,9 (B) {7, 11,15}
) {7,911, 15 D) ¢

fA={3,57,9, 11}, B={7,9, 11, 13}, C= {11, 13, 15} and D = {15, 17}, find
(AuDn(Bu(Q:

(A) {3,5,9 | (B) {7, 11, 15}
€ {7,911, 15} D) ¢

2. o U={1,2,3,4,5,6,7,8 9 A=(1,2,3,4, B={2,4,6,8 A C={3, 4,5, 6},

ad (B- O BT : - S . 4
(A) {1,3,4,5,6,7,9 ‘(B) {1,4,7,8,9}
(C) {3,4,6,8) (D) {2,4,5,6,7, 8
Let U={1,2,3,4,5,6,7,8,9 A={1,2,3,4), B={2,4,6,8 and C= {8, 4, 5, 6},
find (BT S , - _
(A) {1,3,4,5,6,7,9 - B) {1,4,7,8,9}
C) {3,4,6,8) . (D) {2,4,5,6,7, 8}
3. A AT A={x, y, 20 B={1,2), TWAY BS gaat  wem ot : 1

a) 6 | e B 9 o
(C) 24 ‘ (D) 64
Let A= {k, y, 2 and B = {1, 2}, then number of relations from A into B will be :.
(A) 6 (B) 9 | e |

e AC) 2k, (DN58% 20 |

2631 | 3 | S e BT
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2631

(4) 2631
B -1930° 54 Tqgiar ¥ fe & 2
(A) 99 Fgats

_ (B) P& =gutar
(C) T =gata (D) wgd wguly

In which quadrant do the angle ~1930° lje -

(A) 1st quadrant (B) 2nd quadrant

(€} 3rd quadrant (D) 4th quadrant

(5-3i)° B a+ibd &Y F =I5 T :

(A) O+ 01 (B) -10 + 198i
(C) 10 - 1981 (D) -10 — 198i
Write (5-3i)® in the form of a + ib -

(A) O+ Oi (B) -10 + 198i
(C) 10 - 198i (D) -10 - 198i

Uk BS @ wEd g1 o0 ") Bl 9o F AW T © au Bee @ S s e 9
o & 2 o B9 B ARG g F Ao q9E da e e e & aREy ma

61 ¥ ® 1
(A) 9 J (B) 6 &
(C) 4 ¥ (D) 10®

The longest side of a triangle is 3 times the shortest side and the third side is
2 cm shorter than the longest side. If the perimeter of the triangle is atleast
61 cm. Find the minimum length of the shortest side :

(A) 9 cm (B) 6 cm
(C) 4 cm (D) 10cm

R "Ry =42 Py, n>4, W H AWE : o T

A) 10 B) 6
Q 0 D) 1
If "B =42"P;,n>4, the value of nis :

(Ays 300 - | (B) 6
(€ © | = e
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8.

10.

2631

(5)
X 7 O,
Z-0y) # o s a1 59 o o

(A) 105x*y? @) 105x%y*

(C) 105xy6 (D) 105x6y

: 7
Find 5th term in binomial expansion of [g - SyJ :

(A) 105x%y3 (B) 105x°y?
(C) 105xy® ‘ ) 105x%y
[ R 1
B, o e H B T &7
3’9727 T 19683
() 7 (B) 5d
(©) o (D) 4dt
% b I o]

' - e e T ?
Which terrln of the G. P. 3' 9 27’ 1S 19683
(A). 7th ‘ (B) Sth
(CaaOth . «ialslidetit G o sl 0 (B dith

Cigo eI # 17 7 T A T :

(8) 629 S (B) ;52_'9'

GI615. e e D) 0

Find the sum of 17 terms of the A. P. 5,9, 13, .17, ........ :

A) 629 | (it (B) 529

© 615 e S

Download fro'm'WWW.I\/ISEducationTv.com‘ |

2631

PoRiD,



11.

12.

13.

14.

15.

16.

17.

18.

2631

1
(6) 263

o Bl faam Wi & 9w 3 @R mer o eI W dE 8 T 5 g, a e
FEHTT TG Y :

If A. M. and G. M. of roots of a quadratic equation are 8 and 5, respectively,
then obtain the quadratic equation.

2 2

e o+ Yo~ 1(asb) ¥ FEd @ e R 1

a’? b2

2 2
Write equation of directrix of an ellipse s S % =1l(a>Db)..

-

x i
Jom, =% 1
x—0 X

X
) g
x—=0 X
cosec x & TTHA 3 IO | . : 1
Find the derivative of cosec x. |
TEl n W ST B AT S B _ 1
Find the mean of first n natural numbers.
F QA P GH O 8, 3 ¥ B G T H WA S i _—
A die is thrown, find the probability that a number less than 3 will appear-
TG gedT B YT SR @ aen ! ' | - 1

If an event is impossible; then what will be its probability ?
p(._A)=§i 3R P(B):—é- fear o B1 AR A o B WER a(gestl 9T ¥, @ PA or B)
Ik ﬁ'ﬂﬁﬂ{l . . : |

Gi-ven P(A) = _g_ and P(B) =é, find (A or B) , if A and B are mutually exclusive

‘events.

-
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19. IRET (A): AR’ 4x+3,y) = Bx+5,-2), @ x=23My=-2 1
T (R): AR A={-1,3,4, WAx AB(-1,-1), (-1, 3), (-1, 4), (3, -1), (4, -1), (3, 4)}
(A) (A) B, (R) €9 &; (R), (A) H §& e &
(B) (A) 8@ 2, (R) 9 ¥; (R), (A) P &8 awen T8 3
(©) (A) FF 3, (R) TEA &

(D) (A) 3T ¥, (R) 4 8

Assertion (A) : If (4x+ 3, y) = (8x+ 5, -2), then x=2 and y = -2

Reason (R): IfA={1,3, 4, then Ax A is {1, -1),.(-1, 3), (1, 4), (3, -1),
(43 _1)> (3! 4)}

(A) (A) is true, (R) is true; (R) is correct explanation of (A)
(B) (A)isitrue, (R) is true; (R) is not a correct explanation of (A)
(C) (A)is true, (R) is false

(D) (A)is false, (R) is true ' ]

- 20. GTWH(A) 100ﬁwmmﬁaﬁragam SEus
% (R) : Srer-ofer TG & ORI T F A Fed ¥
(A) (A) &9 ¥, (R) ¥4 & (R), (A)%gﬁrm% ‘
~(B) (A FER, (R 7 % (R), (A % a':r@qr Ty i
(©) (A)¥A ¥, (R) %
(D) (A) oTHAE &, (R)H:RI%

- 2631 = ‘ S bl el o)
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Assertion (A) : The collection of all natural numbers less than 100 is a set.
Reason (R) : A set is a well defined collection of the distinct objects.

(A) (A)is true, (R) is true; (R) is correct explanation of (A)

(Bl (A) is true, (R) is true; (R) is not a correct explanation of (A)

(C) .(A) is true, (R) is false

(D) (A) is false, (R) is true

[CRCRC]
SECTION-B
21. frfafed & & 9d% & e Sugs 39 o difeg 2
i) (Avu B) (i) A'nB' '
" Draw appropriate Venn diagram for each of following :
i) (Au B - i) A nB
22. W P AR T s 2
' ' —x24x-2=07"
Solve : .
—x? L x—2=0
3
OR
s l i ‘ . : : : 2
CEGECTEE . _ |
A e H)
H—H_—g]-l-[fﬂ 3)] [ 3
-~ Simplify :

2631

' Download from Www.MsEducationTV.comt



gy

24.

25.

26.

2631

(9) 2631

& B 9
5—2xS£_5
3 6
Solve :
5—2x££_5
3 §)
3069
Tﬁﬂ'{%ﬂﬁs,%,% ........ F fpd UE oYE9IH § i S AR —— = g S ? 2
How many terms of the G B D, 3 —2- ........ are needed to give the sum
3069 5
512

Waad H g s e, e o (o, 0), (2, 3) & ST B SR oW G B
SR & - 2

Find the equation of parabola with vertex at the origin, passing through (2, 3)
and axis along x-axis.

UGN
_ _ OR el ,
Ry T Waed x% =-16y %aﬁ%ﬁi‘a‘r«swmﬂmmaﬁﬁm 2
Find the coordinates of focus and equation of directrix of parabola x2 =-16y.

qE-T
SECTION-C

65 A & wE ¥ 40 B BT W ¥, 10 Brde 7 ¥ A A T AW ¥ T

AR RIS P9 we #X0 §, frde w8 qur R e TER AR E 7 Loog

In a group of 65 people 40 like cricket, 10 like both cricket and tennis. How

many like tennis only and not. cricket ? How many 11ke tennis ?

RGO
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27. AEEH HET i) = —|x | B W qar RET i AR e ded & A A S AW
x=-57% 3
Find domain and range of real function fx) = —|x |. Also find value of function
at.x= =B,

28. TR A & RrEid & N X R F 3

1L+ 243 F .o +n<—(2n+1)2
S§f% Y ne N

Using principle of mathematical induction, prove that for alln e N:

1+2+3+...... +n'<%(2n+1)2
YT
_ | OR
i ST % R T S R B 3
' 12+3?+52+.........'+('2n4—1)2=n(2n#2(2n+l) |
&b Y ne N
Prove tiﬁe following by using the principle of mathematical induction, for
allne N: ‘
12582 5% 400 +en-1)? = ”(2”'_2(2””)
29, xwﬁmmwwmﬁgm;n,(z,ﬁaﬂw(4,5)@?%@nﬁ€h 3

Find the value of x for which the points (x, 1), (2, 1) and (4, 5) are collinear.
2631 ' | | |

L]
y S
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30. & H : lim f(x) & :

x—1

2
Pl % 7 s
—-x“ -1
Find : lim f(x) where :
x—1
2
=
fx)=q" :
- x2 -1
HYAT
OR

(53 + 3x—~1)(x—1) F b ST HPTT

Find the derivative of .(Sx‘? +3x-1)(x-1).

31. AMEMFY W A% T P(E_r=%,_}3(F)=% R ﬁEaﬂTm=%,

qqigq -
() PETH
(i) PETE IR FE)

If E and F are events such that P(E) -'_-%, P(F) =% and P(E and F)=—;—,

find :

() PEorF)
(iij Pnot E and not F)

2631
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gug - §
SECTION - D

32. g FNT 24 P28

(i) cosd4x=1 ~ 8sin? xcos? x

(1) cos? 2x — cos? 6x = sin4xsin8x
Prove that :

(i) cos4x=1-8 sin? xcos? x

(i1) cos? 2x — cos? 6x = sin4xsin 8x

33. faue Wy & T gq (@+b)* —(@a-p)* B} '@ H T (J§+~/5)4—(J5—«/5)4
- @ HE ST eI 5

Using  binomial théorem, find (a +b)4 —(a- b)*.  Hence evaluate
vz +v2) -(3-+2]".
| g
& ot B ok e O
3% 8, 88, 888, 8888, .......... 3 n @ F AT T BT 5
Find the sum of n terms of the sequence 8, 88, 888, 8888, .......... :
34. A POR® sid P2, 1), Q(-2, 3) X R4, 5) &1 MY R, Q/ T arit wifeepr &1 FHHTT
SIS I { iy ‘ 5

The vertices df a A POR are P(2, 1), Q(-2, 3) and R(4, 5). Find equation of the
median through the vertex Rand Q. :

g
'OR
& TR Y@ 15x + 8y — 34 = 0 3T 15x+ 8y + 31 = 0% & A g s AW 5

" Find the distance between the parallell lines 15x + 8y - 34 = 0 and
- 15x+ 8y + 31 =0. ‘

- 2631
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e e

(13)

35. [Iiad el 3 RW A% feae s B

X 8 13 18 23
I 10 15 10 6
Calculate standard deviation for the following data
X 3 8 13 18 23
Ti Z 10 15 10 6
g -§
SECTION - E

2631

36. @mﬁamﬁ@aéwgﬁ%ﬁﬂwaﬁmﬁwwmagam%
AT B MR W ST F W 3 Ho Far B

2631

-\ﬁqﬁf?ﬁrw%

(

) % foa g0 A 59 A S 2 o Ak

v

?
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A civil engineer is given a work of renovating a semi-elliptical bridge. This
bridge is 10 m wu:le at the base and 3 m hlgh at the centre.

Answer the following questions

(i What could be the equation of the elliptical curve showing in the figure ?

(i) At what distance from the centre, the height of the bridge would be 2 m ?

37. @malmﬁﬁﬁqﬁw%w%:ﬁﬁ%%@ﬁsﬁw@uﬂﬁssﬁaﬁz;aﬁaw

A, RaarEl B, 4aﬁzﬁ3mﬁawww%a?iﬂi‘qa@c 3 qife & 2 3R FuE
ErFITFI?b‘cﬂ%l B LSS 4

'm"mwﬁABmcwmmmﬁl

R wmﬁmﬁwﬁﬁBeﬂtcwﬁrswaﬁWAﬂmaﬁ[- Sl SN
e R N

Y
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A coach is training 3 players. He observes that the player A can hit a target 4
times in 5 shots, player B can hit 3 times in 4 shots and the player C can hit 2
times in 3 shots.

From this situation answer the following questions :
() Probability that A, B and C all will hit target.
(if) What is probability that B, C will hit and A will lose ?

3s. @meé%@%ﬁﬁﬁﬁqummwﬁwﬁmﬁmﬁ%
mmmﬁmmﬁﬁwqa@?ﬁmﬂ %tzﬂ%«*coseca=~./§aﬁ'(

sec = 2%l . _ : 4

S E U gAY AeYEh 4 e
' i) secomAF @M EM? |
(i) T B ey AT AY B 7 , i 2
(iii) tan o % HF 9T W 7 . _ |
26n 0 T AT - i _ P TR0

&
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A submarine is moving in such a way that at a particular moment of time 1ts
angle of elevation for two ships, situated at different positions on the surface of

water is o and B respectively, if cosec a = J3 and sec p = 2.

R T o2 A5

Answer the following questions :
(i) What will be the value of sec o ?
(i) What will be the measure of the angle B 'P -i g

(iii) What will be the value tan o ?

P
{
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